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TAX EXEMPT AND 

GOVERNMENT ENTITIES 
DIVISION 

UIL NO.: 9100.00-00 

Leqend : 

Taxpayer A ............................................................... 

Taxpayer B ..................................................... 

IRA T ........................................................................ 

IRA u ....................................................................... 

Company M .............................................................. 

Sum 0 ....................................................................... 

DearMr. : 

This is in response to a letter dated October 11, 2003, as supplemented by 
correspondence dated April 1, 2004, in which you request relief under section 
301.91 00-3 of the Procedure and Administration Regulations (the “regulations”). You 
submitted the following facts and representations in connection with your request. 

Taxpayer A maintained an individual retirement arrangement, IRA T, described in 
section 408 of the Internal Revenue Code (the “Code”), with Company M. In 
Taxpayer A converted IRA T into Roth IRA U, which was also with Company M. 
Taxpayer A was ineligible for the Roth conversion due to the $1 00,000 limitation 
in section 408A(c)(3)(B). Taxpayer A timely filed a joint federal income tax return with 
his spouse, Taxpayer B, for calendar year 
was Sum 0. No portion of Sum 0 was included as taxable income on the return. 

Taxpayer A believed the Roth conversion was merely an attempted conversion which 
was ineffective because Taxpayer A and Taxpayer B exceeded the $1 00,000 limitation. 
Thus, he was unaware of the need to recharacterize Roth IRA U, until the year 
when he spoke with a representative from Company M who informed him that he in fact 
had a Roth IRA. Therefore, Taxpayer A missed the deadlines provided in 
Announcement 99-57,1999-24 I.R.B. 50 (June 14, 1999) and Announcement 99-104, 
1999-44 I.R.B. 555 (November 1, 1999), which would have allowed Taxpayer A to 

-, 

. The amount converted from IRA T 








